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Name __________________________________ Date __________ Class Period ______

Draw and label a pedigree with the information below. Include genotypes and shade them correctly.

Unattached earlobes is the dominant trait (U) and attached earlobes is recessive (u). What are the possible genotypes for the people in this family? Put the genotypes of these individuals near their spot on the pedigree chart. 
In this family, the mother has attached earlobes and the father has unattached earlobes. They have 4 children, 3 of which are married and have children of their own. Child 1 has attached earlobes and his wife has unattached earlobes. They have 3 children, all with unattached earlobes. The two oldest are boys, followed by a girl. Child 2 has unattached earlobes and his wife also has unattached earlobes. They have one child, a girl, who has unattached earlobes. Child 3 has attached earlobes and her husband also has attached earlobes. They have 2 children. Their son has attached earlobes just like his older sister. Child 4 has unattached earlobes and is not married although she wants to be someday.
